
7278 7278.5 7279 7279.5 7280
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

3

3.2

3.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

6912

6912.5

6913

6913.5

6914

6914.5

6915

6915.5

6916

ru
n

run:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6914}



7278 7278.5 7279 7279.5 7280
cyclenum

128.8−

128.6−

128.4−

128.2−

128−

127.8−

127.6−

127.4−

127.2−

127−

126.8−

126.6−

us
l_

1X

usl_1X:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

0.5−

0

0.5

1

1.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

56.5

57

57.5

58

58.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

19.5

20

20.5

21

21.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

43−

42.5−

42−

41.5−

41−us
l_

12
X

usl_12X:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

6912

6912.5

6913

6913.5

6914

6914.5

6915

6915.5

6916

ru
n

run:cyclenum {run == 6914}



7278 7278.5 7279 7279.5 7280
cyclenum

154.4−

154.2−

154−

153.8−

153.6−

153.4−

153.2−

153−

152.8−

152.6−

152.4−

152.2−

us
r_

1X

usr_1X:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

5.4

us
r_

4a
Y

usr_4aY:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

204

204.5

205

205.5

206

us
r_

4e
X

usr_4eX:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

10

10.2

10.4

10.6

10.8

11

11.2

11.4

11.6

11.8

12

12.2

us
r_

4e
Y

usr_4eY:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

39.5−

39−

38.5−

38−

37.5−

us
r_

12
X

usr_12X:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

6912

6912.5

6913

6913.5

6914

6914.5

6915

6915.5

6916

ru
n

run:cyclenum {run == 6914}



7278 7278.5 7279 7279.5 7280
cyclenum

34968

34968.5

34969

34969.5

34970

us
l_

co
il1

usl_coil1:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

6959.2

6959.4

6959.6

6959.8

6960

6960.2

6960.4

6960.6

6960.8

6961

6961.2

6961.4

us
l_

co
il3

usl_coil3:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

4204.2

4204.4

4204.6

4204.8

4205

4205.2

4205.4

4205.6

4205.8

4206

4206.2

4206.4

us
l_

co
il4

usl_coil4:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

1314−

1313.5−

1313−

1312.5−

1312−us
l_

co
il6

usl_coil6:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

17228.2

17228.4

17228.6

17228.8

17229

17229.2

17229.4

17229.6

17229.8

17230

17230.2

17230.4

us
l_

co
il7

usl_coil7:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

6912

6912.5

6913

6913.5

6914

6914.5

6915

6915.5

6916

ru
n

run:cyclenum {run == 6914}



7278 7278.5 7279 7279.5 7280
cyclenum

30891−

30890.5−

30890−

30889.5−

30889−

us
r_

co
il1

usr_coil1:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

6090.4−

6090.2−

6090−

6089.8−

6089.6−

6089.4−

6089.2−

6089−

6088.8−

6088.6−

6088.4−

6088.2−

us
r_

co
il3

usr_coil3:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

3595.5

3596

3596.5

3597

3597.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

686−

685.5−

685−

684.5−

684−

us
r_

co
il6

usr_coil6:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

20514.2

20514.4

20514.6

20514.8

20515

20515.2

20515.4

20515.6

20515.8

20516

20516.2

20516.4

us
r_

co
il7

usr_coil7:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

6912

6912.5

6913

6913.5

6914

6914.5

6915

6915.5

6916

ru
n

run:cyclenum {run == 6914}



7278 7278.5 7279 7279.5 7280
cyclenum

428−

427.5−

427−

426.5−

426−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

71.5−

71−

70.5−

70−

69.5−1X
_c

oi
l3

1X_coil3:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

35.5

36

36.5

37

37.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

516−

515.5−

515−

514.5−

514−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

99.5−

99−

98.5−

98−

97.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

38

38.2

38.4

38.6

38.8

39

39.2

39.4

39.6

39.8

40

40.2

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6914}



7278 7278.5 7279 7279.5 7280
cyclenum

173.2

173.4

173.6

173.8

174

174.2

174.4

174.6

174.8

175

175.2

175.4

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

34

34.2

34.4

34.6

34.8

35

35.2

35.4

35.6

35.8

36

36.2

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

12.5−

12−

11.5−

11−

10.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

182

182.2

182.4

182.6

182.8

183

183.2

183.4

183.6

183.8

184

184.2

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

29.8−

29.6−

29.4−

29.2−

29−

28.8−

28.6−

28.4−

28.2−

28−

27.8−

27.6−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

10−

9.5−

9−

8.5−

8−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6914}



7278 7278.5 7279 7279.5 7280
cyclenum

237.5−

237−

236.5−

236−

235.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

85.5−

85−

84.5−

84−

83.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

0.5−

0

0.5

1

1.512
X

_c
oi

l4

12X_coil4:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

5.5

6

6.5

7

7.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

475−

474.5−

474−

473.5−

473−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6914}

7278 7278.5 7279 7279.5 7280
cyclenum

6912

6912.5

6913

6913.5

6914

6914.5

6915

6915.5

6916

ru
n

run:cyclenum {run == 6914}
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